Table 1. Palay: July-September Crop Estimates as of 01 August 2020

	JULY-SEPTEMBER							
		2020 FO	RECAST	Percent Change				
ITEM	2019 Final Estimate	Jul 2020 Standing Crop	Updated Standing Crop	Updated/ Jul 2020	Updated/ 2019			
(1)	(2)	(3)	(4)	(5)	(6)			
PRODUCTION (MT)	3,051,471	3,545,138	3,551,254	0.2	16.4			
Irrigated	2,306,259	2,594,172	2,598,049	0.2	12.7			
Rainfed	692,895	888,789	890,305	0.2	28.5			
Upland	52,317	62,177	62,901	1.2	20.2			
HARVEST AREA (Ha)	742,874	859,620	859,600	a/	15.7			
Irrigated	514,520	574,760	574,761	a/	11.7			
Rainfed	201,680	255,238	255,237	a/	26.6			
Upland	26,674	29,622	29,602	-0.1	11.0			
YIELD PER HA (MT)	4.11	4.12	4.13	0.2	0.5			
Irrigated	4.48	4.51	4.52	0.2	0.9			
Rainfed	3.44	3.48	3.49	0.3	1.5			
Upland	1.96	2.10	2.12	1.0	8.2			

a/ - less than 0.05

Source: Philippines Statistics Authority (PSA), Monthly Palay and Corn Situation Reporting System (MPCSRS)

Table 2. Palay: Actual Harvested as of 01 August 2020

ITEM	PRODUCTION (MT)	AREA HARVESTED (HA)	YIELD PER HECTARE (MT/HA)
(1)	(2)	(3)	(4)
PALAY HARVESTED	040.004	04.000	2.05
TOTAL	312,334	81,202	3.85
Irrigated	256,301	62,538	4.10
Rainfed	45,882	13,300	3.45
Upland	10,151	5,364	1.89

Table 3. Palay: July-September Actual Plantings (October-December 2020 Harvests) as of 01 August 2020

ITEM	JULY 2020 PLANTING INTENTION	ACTUAL PLANTINGS	PERCENT OF PLANTING INTENTION
(1)	(2)	(3)	(4)
PLANTINGS (Ha)			
TOTAL	1,822,307	1,028,696	56.5
Irrigated	1,200,774	688,580	57.3
Rainfed	589,463	321,966	54.6
Upland	32,070	18,149	56.6

Source: Philippines Statistics Authority (PSA), Monthly Palay and Corn Situation Reporting System (MPCSRS)

Table 4. Palay: Area of Standing Crop by Stage of Development (October-December 2020 Harvests) as of 01 August 2020

ITEM	ALL STAGES VEGETATIVE		TATIVE	IVE REPRODUCTIVE			MATURING	
	ALL STAGES	Hectare	In Percent	Hectare	In Percent	Hectare	In Percent	
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	
AREA OF STANDING CROP								
TOTAL	1,807,094	1,133,563	62.7	479,383	26.5	194,147	10.7	
Irrigated	1,200,803	734,154	61.1	325,036	27.1	141,612	11.8	
Rainfed	563,904	377,473	66.9	143,782	25.5	42,648	7.6	
Upland	42,387	21,936	51.8	10,564	24.9	9,887	23.3	

Note: Area of Standing Crops includes Standing Crop not harvested in July-September 2020 and Actual Plantings for October-December 2020 Harvests

Table 5. Corn: July-September Crop Estimates as of 01 August 2020

	JULY-SEPTEMBER							
		2020 FOF	RECAST	Percent Change				
ITEM	2019 Final Estimate	Jul 2020 Standing Crop	Updated Standing Crop	Updated/ Jul 2020	Updated/ 2019			
(1)	(2)	(3)	(4)	(5)	(6)			
PRODUCTION (MT)	2,723,109	2,815,714	2,816,767	a/	3.4			
White	842,475	909,006	910,062	0.1	8.0			
Yellow	1,880,633	1,906,707	1,906,705	0.0	1.4			
HARVEST AREA (Ha)	874,400	919,413	919,583	a/	5.2			
White	430,683	463,788	463,855	a/	7.7			
Yellow	443,717	455,625	455,728	a/	2.7			
YIELD PER HA (MT)	3.11	3.06	3.06	0.0	-1.6			
White	1.96	1.96	1.96	0.0	0.0			
Yellow	4.24	4.18	4.18	0.0	-1.4			

a/ - less than 0.05

Source: Philippines Statistics Authority (PSA), Monthly Palay and Corn Situation Reporting System (MPCSRS)

Table 6. Corn: Actual Corn Harvested 01 August 2020

ITEM	PRODUCTION (MT)	AREA HARVESTED (HA)	YIELD PER HECTARE (MT/HA)
(1)	(2)	(3)	(4)
CORN HARVESTED			
TOTAL	402,446	149,729	2.69
White	222,892	105,062	2.12
Yellow	179,554	44,667	4.02

Table 7. Corn: July-September 2020 Plantings (October-December 2020 Harvests) as of 01 August 2020

ITEM	JULY 2020 PLANTING INTENTION	ACTUAL PLANTINGS	PERCENT OF PLANTING INTENTION		
(1)	(2)	(3)	(4)		
PLANTINGS (Ha)					
TOTAL	564,520	134,321	23.8		
White	288,502	78,000	27.0		
Yellow	276,018	56,321	20.4		

Source: Philippines Statistics Authority (PSA), Monthly Palay and Corn Situation Reporting System (MPCSRS)

Table 8. Corn: Area of Standing Crop by Stage of Development (October-December 2020 Harvests) as of 01 August 2020

ITEM	ALL STAGES VEG		TATIVE	REPRODUCTIVE		MATURING	
	ALL STAGES	Hectare	In Percent	Hectare	In Percent	Hectare	In Percent
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)
AREA OF STANDING CROP							
TOTAL	904,175	152,118	16.8	428,742	47.4	323,315	35.8
White	436,793	74,990	17.2	160,388	36.7	201,415	46.1
Yellow	467,382	77,128	16.5	268,354	57.4	121,900	26.1

Note: Area of Standing Crops includes Standing Crop not harvested in July-September 2020 and Actual Plantings October-December 2020 Harvests